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Al 18,457
101 21AH| 48,110 46,250 1,860
= 22,810
= 6,843
Al 18,457
MU IRNZZ2NSE 48,110 46,250 1,860
O2URHEASYE HIZLM 1A (2Y) 45,620
= 22,810
= 6,843
Al 15,967
OALIRMHEESE HELME SAHI
5,000& »2H »2492 2,490
HER =23 8,696 8,696 0
= 4,348
= 1,304
Al 3,044
402 212+ X201 & 8,69%6 8,696 0
= 4,348
= 1,304
Al 3,044
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OdgAHAUANHHEE 8,6%6
= 4,348
= 1,304
Al 3,044
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401 Al HIZL 01| 110,000 110,000
01 Al&HI 100,000 100,000
OALSEES WH(ES, 14) 100,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 878,933 836,070 42,863
= 361,574
== 185,107
Al 372,252
M ORNZZ2NSE S 878,933 836,070 42,863
OLt=X 20 L &3 (60Z) 789,617
= 315,847
=S 139,283
Al 334,487
Ottsdzugdsl 288 66,516
= 26,607
=S 1,741
Al 28,168
OuZ2d20 LN 22=(60) 22,800
= 9,120
=S 4,083
Al 9,597
201 =3 35,262 35,262 0
= 14,106
= 6,348
Al 14,808
01 At 2|l 28,800 28,800 0
OMESSHEES It LXHHI(6TH) 28,800
= 11,520
= 5,184
Al 12,09
02 S3=gHl 6,462 6.462 0
Ou=sEESHE RFOI(6M) 6,462
= 2,586
= 1,164
Al 2,712
AHTHOH Kbl SHOI(AFAER O E) 59,882 42,375 17,507
= 23,953
= 10,779
Al 25,180
101 @124H| 57,882 40,375 17,507
= 23,153
= 10,419
Al 24,310
MU ORINZENSES 57,882 40,375 17,507
OLHALE S0 (5) 57,882
= 23,153
< 10,419
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 24,310
201 et 3| 2,000 2,000 0
= 800
= 360
Al 840
01 AtR2t2|HI 2,000 2,000 0
OLHAIE S0 e =3I 2,000
2 800
= 360
Al 840
IR 35,120 24,050 11,070
201 Zet=3h] 3,120 4,050 2930
01 AtR2te|HI 3,120 4,050 A930
Oget+=EHI 2,000
— SHAFERF PRI X8 QHLEt M. 7Y
500,000 ~4 K 2,000
O=2g+¢ 560
—SFAFRRSFSFR X8 ?I32 30 ¢
70,0002 +8%H 560
Ot ol Bl&=22X =S|
8,000 x5 +20& *70% 560
401 AIEHIZL S0 32,000 20,000 12,000
01 Al&H| 32,000 20,000 12,000
OdtE Il S2A
10,000,000 *10H 2~ 10,000
Ot T R X SPAIE (24 22,000
AHS 0l CH Y 3,937,345 3,581,004 356,341
101 ©1AH| 3,850,286 3,492,029 368,257
M IRNZZ2NSE S 3,850,286 3,492,029 368,257
OO0RHtEA 3 5201 319,650
-Jl=s 80,0002 x15E 150! 180,000
-ma5dsE 80,0002 x 15 *37 44,400
—Axte=g 80,0002 x15&+7& 8,400
-2
80,0003 »150%* 158 42 75,600
- =4l 5,000 15 150! 11,250
O=aZAIA 234,410
-Jl== 80,0002 * 112 %150 132,000
-FeRdrd 80,0003 x11H 37 32,560
—AAxtE 80,0003 117 6,160
e
80,0003 *150%+11H x42 55,440
—-=4l 5,0003 11 »150& 8,250
OXISZAIE 2,894,551
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o9l ds=e (Er9: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-Jl== 76,9603 * 141 +150 1,627,704
-m25dsE 76,9603 x141H+37 401,501
—Hxt==E 76,9602 x 141 »7 75,960
S LIEE
76,9603 * 150 1412 42 683,636
—=4 5,0002 x1412+150 105,750
OLERAR 402EE
3,448,610,000& «9% 310,375
Oul=s| 91,300
—MEZAIR 2tH G 50,0002 »166H 8,300
—AETAR 2RR(YUF)
200,0003 *166% 33,200
—NEANE 2P=(52)
150, 0002 x22£ x166H 49,800
201 2= 74,059 75,475 A1,416
01 At22t2l] 46,920 48,336 A1,416
Oget=ZH| 30,860
- &= Yk 500,0002!*10H 5,000
—gatsAl g 8,0002 *1,200K 9,600
—&=2X 10,0002 %250 H 2,500
-5 2,000 13074 260
A0l B A
55,0002 *100H 5,500
—OF2t&lat A8 BHE 20,000 200K 4,000
- e 2 b2l 2
10,0002 *400H 4,000
OuZxs XE STHA A DY)
50,000& *30H 1,500
o=zt 14,560
~MEURHER HAD22T SA)
8,000 x 102 2002 *7(f% 11,200
- MEXSIZAHI(RR, EISHH)
8,000 60 +73] 3,360
02 S5=2g4l 27,139 27,139 0
OAlE &I Xl 19,399
—MEHEBHISFUH(FLR)
1,633&%3,000 £ 4,899
S&I A8 X WM 60,0002 *50H 3,000
—MEROIZAIDMHCH |X 2
1,000,000 *4CH 4,000
—uEEss)| 22 Y 2E D
150,000 *5LH*62] 4,500
—FHIIEMN =8 60,0002 *50CH 3,000
OZ332= & HMAl 7,740
—A=2AE AXE & NGKRIE EHE
SPC Stls 70,0003 =3CH*12I0 2 2,520
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Sl dEES EERE)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
- &EFUZAISHC HIOIH 22
420,000 * 1200 & 5,040
—MESIZAIDIHEH I 23
15,0002 12042 180
202 04| 2,000 2,500 A500
01 =LHOLI 2,000 2,500 A500
OtgEs A=A O
400,000 5 2,000
302 01 Mot 2 &= 1,000 1,000
02 2N S A2 S22 1,000 1,000
O&r2Jtoli A+ &1 10 Ea= 1,000
401 AIZHIX R0HH 10,000 10,000
01 AlZ2H| 10,000 10,000
OM=UY M=EHE QIgE2d A 10,000
SAEYA & EE SR D 367,947 372,549 A4,602
308 XXM SOIH 367,947 372,549 A4,602
07 AX 2L FE= 367,947 372,549 A4,602
Odtsdetd)| gxt= 367,947
AENSSHATAHILER) 4,986 4,986 0
308 AHXIEMSOIH 4,986 4,986
07 AX R FE=S 4,986 4,986
OdatEgistels ns L HiH118]) 4,986
MXNEE(2XTHE) 5,700 2,520 3,180
=S 1,710
Al 3,990
201 et 3| 5,700 2,520 3,180
== 1,710
Al 3,990
01 AtR2t2lt] 5,700 2,520 3,180
OYAELR SS(JL2AKR tHe) 5,700
& 1,710
Al 3,990
AXIEE (R TH) 35,000 35,000 0
401 A& HIX R0 35,000 35,000
01 AlZH| 35,000 35,000
OEXOISANAEZMEIA HH|(AX72H
3) 15,000
OEAMF ofJHAl 2108 7= 20,000
Ao Er =S 6.860 7,060 A200
201 Ler23 | 3,620 3,620 0
01 At2teltl 1,100 1,100 0
OtelsHs 822 ME
55,000 *20F 1,100
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SA: AR
M NEAYDES
CHol: MRS

SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 2,520 2,520 0
OLIEAIE =Al EIE PCSAI=
70,0002 +3CH* 12 2,520
202 048l 3,240 3,440 A200
01 2L AL 3,240 3,440 A200
OdHX2te|g e =& ol
450,000 #44 1,800
OARARESAL X8 01t
20,0002 x4 =33 +6E 1,440
AHS LTI CHEH (Z 4Y) 49,159 31,059 18,100
= 19,670
< 8,859
Al 20,630
101 @124H| 4,103 4,103 0
= 1,641
== 41
Al 1,721
M ORNZZ2NSE S 4,103 4,103 0
Ott28 st SAMHI 4,103
= 1,641
= I
Al 1,721
201 =3 23,556 23,5% 0
= 9,429
= 4,248
Al 9,879
01 AtR2tc|HI 17,55 17,55 0
OIMAXSIEHINE F 17,55
= 7,029
= 3,168
Al 7,359
02 S3=gHl 6,000 6,000 0
OLZEFRIZAIPHHICH R XIE2= 6,000
= 2,400
= 1,080
Al 2,520
303 Zal= 3,400 3,400 0
= 1,360
= 612
Al 1,428
01 &= 3,400 3,400 0
Out=2ds 28I 3,400
= 1,360
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M AEIGNES
CHel: pRIES (el @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 612
Al 1,428
401 AIZHIZ SO 11,700 0 11,700
= 4,680
< 2,106
Al 4,914
01 Al&H| 11,700 0 11,700
OLr=2AE R0 AFEHI ALE 11,700
= 4,680
== 2,106
Al 4,914
405 AHaHE S 6,400 0 6,400
= 2,560
== 1,182
Al 2,688
01 TR ESF SHI 6,400 0 6,400
o=l 28I 2 6,400
= 2,560
=S 1,182
Al 2,688
A XICHE (XH2) 129,791 15,600 114,191
= 51,916
S 23,363
Al 54,512
201 fet=3| 23,791 15,600 8,191
= 9,516
= 4,283
Al 9,992
02 S3=gHl 23,791 15,600 8,191
OMESZAIR AXZHAIAE(GPS) SAlH| 23,791
= 9,516
= 4,283
Al 9,992
405 KHoHFSHI 106,000 0 106,000
= 42,400
= 19,080
Al 44,520
01 AL =S F = 106,000 0 106,000
Out2astxt 7 (2A) (2CH) 96,000
= 38,400
< 17,280
Al 40,320
Ott=2ZAI=L 7Y 10,000
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PSER
o e

el

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

Mo

4,000
1,800
4,200

AHE THOH 04l &

6,825

27,300

N20,475

6,825

27,300

N20,475

6,825

6,825

27,300

N20,475

hoH

=

9,194,905
4,906,409
1,340,738
2,947,758

4,855,015

4,339,890

Mo

=

96,480
38,880
12,960
44,640

85,680

10,800

402 SI2EXH=2 01 S

Mo

=

96,480
38,880
12,960
44,640

85,680

10,800

Mo

=

96,480
96,480
38,880
12,960
44,640

85,680

10,800

Mo

=

331,671
151,034

54,192
126,445

63,838

267,833

402 2I2FX=01 &

o

=

331,671
151,034

54,192
126,445

63,838

267,833

OJ3nloi s+ =& (22ha)

O’ THOH X Z=&l (5ha)

= 0 W

hoH

331,671
34,864
16,789

5,423
12,652

264,874

132,437
39,731
92,706
31,933

63,838

267,833

12 -




SN D
A MEALUES
ool MEIAY (Shol: &2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 1,808
T 9,038
Al 21,087
T (OIMAHX MY &) 328,000 329,986 1,986
= 164,000
T 49,000
Al 115,000
402 QI Xt=01H 328,000 329,986 A1,986
= 164,000
& 49,000
Al 115,000
03 QIZIR/ErAL I 328,000 329,986 1,986
OBt~ X2 =& (15ha) 328,000
= 164,000
& 49,000
Al 115,000
E=TONYPUEED! 10,950 12,000 21,050
201 B2 AY| 4,000 4,000 0
03 A2 I 4,000 4,000 0
OA=Y L =ItR)| #HAF L2 | 4,000
202 o441 3,150 4,000 A850
01 =2LHO4 ] 3,150 4,000 A850
Ot Z A HRFX 0]
450,000& x5 +900,000& 3,150
203 PYRF=&Y| 1,800 2,000 A200
03 A F=AHRFAIH| 1,800 2,000 A200
OAIMFER AR ETIY| 1,800
301 LPBNF 2,000 2,000
11 SHALAHIXI A2 2,000 2,000
OA=Y & =ItR)| #HAF 21201 S S| 2,000
SSAMEIRI|(ZHIBX) 226,013 395,552 169,539
= 109,127
& 32,077
Al 84,809
101 2124t 197,09 348,820 A151,721
= A,670
& 27,740
Al 74,689
M I1RINZ2Z2XsEs 197,09 348,820 A151,721
OR/HHI0I QO A =J T 01215 (3Y) 65,134
= 32,567
T 9,770
Al 22,797




SN A
HE: A
e

=aak

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

O
=
i
P}
o
Iy
>
i
e

2AH1(19) 23,880
11,940
3,582
8,358
O PRIIMEE 21HHI(4Y) 95,925
47,963
14,388
Al 33,574
2,200
2,200

= H W

Mo

O
s
0B
pa
o
=
+
S
~
>
S
o
ol
I
=

H

5,000 x8H »249&! 9,960

201 Lt 28,914 46,732 A17,818
14,457
4,337
10,120

hoH

=

01 AtR2telbl 26,914 36,000 A9,086
O=IIPIIHEE 2 XHeF LXHHI(3MH) 26,914
13,457
4,037
9,420
S ] 2,000 10,732 N8B, 732
O334taIt0| Xt & JIHEH |F4l 2,000
1,000
300
700

Mo

=

Mo

=

03

>

S ZH
A8

JHRDI(=H

H
A

) 3,119,414 1,355,451 1,763,963
1,589,708

467,911
1,091,795

Mo

=

X

Ji!

ol& 3,119,414 1,355,451 1,763,963
1,559,708

467,911
Al 1,091,795

r
i

0
J

402

Mo

03 gIzte& 3,119,414 1,355,451 1,763,963
O=It10| 3,119,414
- 22U (62ha) 124,210
62,105
18,631
43,474
— O{2ILHRIHR D[ (150ha) 260,352
130, 176
39,053

>
1Q
=2

= A

Mo




SA AE
S AEIGNES
oFl AE3E EERE))
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